
List of 1/3 Scale Nieport28 Parts
NO. item spec qty NO. item spec qty

Wood sticks Wood sticks

NW-01
girder

12X25X1250 2 NW-23

pine

8X6MM 34

NW-02 12X20X1250 6 NW-24 8X8MM 12

NW-03
wing brace rod

12X35X420 4 NW-25 10X10MM 7

NW-04 12X35X445 4 NW-26 12X6MM 4

NW-05
wing center

12X25X350 1 NW-27 10X5X1100MM 7

NW-06 12X20X350 1 NW-28 balsa 3MM 21

NW-07 aileron 10X27X725 2 NW-29 trigone 1

NW-08 landing gear 10X28X335 4 NW-30 paulownia 8X6MM 7

NW-09 landing gear 10X28X500 1 Wood sheets

NW-10 tail skid 10X22X270 1 NW-31
laser-cutting 

polywood

1MM 9

NW-11 bulkhead(bevel) 10X28X165 4 NW-32 3MM 8

NW-12 bulkhead 10X28X165 3 NW-33 4MM 2

NW-13
head

10X28X180 2 Accessories bag

NW-14 10X28X220 2 NA-01
bracing wires

1.2MM 12M

NW-15 vertical tail 10X15X135 1 NA-02 1MM 6M

NW-16 vertical tail 10X22X164 1 NA-03
needle hinge

D4.5×L67mm 8

NW-17 rudder 10X22X113 3 NA-04 D2.5×L48mm 12

NW-18 wing center 10X28X83 4 NA-05 CNC copper clevis M3 16

NW-19 tailplane 10X70X200 1 NA-06 perforating screw M3 16

NW-20 aileron 10X22X93 2 NA-07

screw

M3X40 8

NW-21 lower wing 10X28X45 4 NA-08 M3X18 45

NW-22 fuselage 10X28X270 2 NA-09 M3X8 16

NA-14
carbon tube

12X600MM 2 NA-10 tapping screw M2.8X16MM 30

NA-15 12X450MM 2 NA-11 4 grasping nut M3 6

NA-16 PVC  tube 12MM 3 NA-12 locking nut M3 45

NA-17 Fiber Cowl 1 NA-13 alu crimp tube M1.2 45

NA-18 ABS parts 2



Pictures for accessories of 1/3 Niueport 28

NO. PIC. NO. PIC.

NA-01-02 NA-11

NA-03-04 NA-12

NA-05 NA-13

NA-06 NA-14-15

NA-07-09 NA-16

NA-10 NA-17

NA-18


